SH6EE =R —Mg=Et  MHE TESBERTEETI-—bH NO, #li 1
EN 18 =]
2 2 2 BB -84 BFETED - WEBLIRE
BEXD e e BER 5 WEWSEUfiE
BEL EiFR HRERZn FERE (M)
=x O TR B @ENRIEAE 1,460
(1%%5) | @
LRI HIVERETS W[OS
3% |©
B o
WIEXSD 12 A##HIE ()
* HIE S EEIERGAE 0O (0~00nit) =» 1460
FER- 20 /B QZOMOETRE (LELS) OEETEE *ZHRL"0 %@ A =» 0
21 /E O (O+0) SESStE-» 1,460
MAICETS | FEZE (FM) YWEMENER (FMm) -
— —ASEAR (FMm)
158 (@) EEZHS B HS s BIEL%Z0M
1,460 0 0 0 0 1,460
SH6EE - *
BHREX Y HEE - BB  TEEHDZTR
(F3E) EEZHE
Y5ERTEAER BEHe
I=li=kn
s MEIIDEVERET RIEARVBIRNIER(CEND, TmEOHRN - SEICOBNBLHREHS UL ZENRIEIR

RUZOE
(HEFTED)

BENRIZEE (CFTIB(CHD, FESOYE_E

FASOREELT, TILIIRILIRALUIOFEITZITIED,

RAEZHPOERIEENGH] 6 F12ASORITITTRFR T IBLMHN, B 7HF 1 ASHS3 ASEHE
FEOFECLZERIEFEED LR (THELTFRERZIERT 50,

FEOIEEIR
b=
EFAE  LRALUEIRIRAE (24,50085x208) 1,460,000/
R
F2-Bx K| EEEL
NEE/HEE| OXELFEROLRILL 2 BS- 3 AEORERALE 3,090,000
QFHE*EERIA%E 1,630,000/
®3,090,000M - ®@1,630,000M = 1,460,000
BITRER
(—Emx/

MEmF)




